Pangu and Stones

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 1024 megabytes

In Chinese mythology, Pangu is the first living being and the creator of the sky and the earth. He woke
up from an egg and split the egg into two parts: the sky and the earth.

At the beginning, there was no mountain on the earth, only stones all over the land.

There were N piles of stones, numbered from 1 to N. Pangu wanted to merge all of them into one pile
to build a great mountain. If the sum of stones of some piles was .5, Pangu would need S seconds to pile
them into one pile, and there would be S stones in the new pile.

Unfortunately, every time Pangu could only merge successive piles into one pile. And the number of piles
he merged shouldn’t be less than L or greater than R.

Pangu wanted to finish this as soon as possible.

Can you help him? If there was no solution, you should answer 0.

Input

The first line of each case contains three integers N, L, and R as above mentioned (2 < N < 100,
2<L<R<ZN).

The second line of each case contains N integers aj,az, - ,an (1 < a; < 1000), indicating the number
of stones of pile 1, pile 2, ..., pile N.

Output

You should output the minimum time(in seconds) Pangu had to take. If it was impossible for Pangu to
do his job, you should output 0.

Examples
standard input standard output
322 9
123
323 6
123
4 3 3 0
1234
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